AZAPHAIZRFX— - R/ —K—FX&

SMxTETATH
R & =
AEX—aRM
EH GS AREX—22=70O&H B Xig &Y RE 24C Mg 112—> 115EM
HE
Re—bk | Eviy BF4 Ui mEy>7 A4 L | IESL
5 55 H # & % 8+ h+4 BOAZTFRAEX—RI—)L 25.78 1
3 53 I it YIRE vt BOAZTRX—H957 26.52 2
4 54 7 0 i FHIY =1) BOLATAXF—RI—)L 28.51 3
2 52 o om o& = THIY EY b BUOAZTFTREX—RI—L 31.46 4
1 51 R X E R YHE b w9 BOAZTRAXF—RI— 32.68 5
L 4= GS ARX—2a=F7OE A
HE
RE—bk | EviY BF4 YA+ mEy>7 A4 L | IEEL
6 61 B I X C JLT 24% HOAZTARX—5T 20.98 1
5 60 E &8 XK & 785~ a4 F—LHY=T 22.49 2
3 58 n ' O# — =F] toAF R EBINER 22.83 3
4 59 B OB T O PEERN ErFY F—LH)ZT 23.52 4
2 57 N B 2 R * 745 HBOLZTRX—9 5T 24.58 5
1 56 x*x X B 33 RIBY ha b BEO1ZTFTRX—935T 25.92 6
A GS AX—BFn&H B
e
Ra—k | Eviy BF4 YA mEI57 AaL | IEEL
2 52 A B BKE T4 vavaoy  [AMKERF—EB 20.39 1
12 62 IN OB aEY amx M KER F—EB 21.38 2
10 60 A B T LA EL FMN KR F—EB 21.47 3
11 61 E OB K & 78 A TYF MK R F—E 21.48 4
9 59 T a8 F 3 INE= 24+ M KFER F—E 21.79 5
7 57 — B R F 75893 aAd AN KR F—8D 2214 6
3 53 A # = KX 134 Yyarys MK R F—Ef 22.34 7
6 56 # F 2—H 15 Vo4 Fa | FUMKERF—E 23.16 8
8 58 OB & & IUu En¥ BRKFEHHZR F—E& 23.23 9
13 63 F oA T Fh=2 FU AMKE R F—EH0BS 25.32 10
5 55 # B #%—H Y4 avqFay | MKRERF—E 26.36 11
4 54 fE Oy 1% FM KR F—EB 27.07 12
1 51 b B F B FhiF AU NN KZER F—E] 42.34 13




AZAPHAIZRFZX— - R/ —KR—FX&

SHTETATH
&R GS AX—BFoH A
e
Ra—bk | EviY BF4 2YUH* mEY37 A4 L | IEE
12 75 i A =S 2Ty A T=47SscC 19.77 1
10 73 W T I1E BA Y34 I4ED ABXFroELXUSC 19.80 2
7 70 F K EBE & A F +A¥ NINKER F—E] 19.95 3
11 74 mOH E X ahA EATS FUM KEE R & —EB 20.00 4
1 64 X B & Ik v/ shen SEDES 20.39 5
2 65 R & & BT am* FUM KEE R - —Ep 20.39 5
9 72 7 B *ht & FUA aYRY MW KFER F—E0BE 20.41 7
3 66 T B OB 1B 7R 5h/ 7 AELS2=F7L—Y25957 20.59 8
6 69 A m s AAa= X% NN KFER F—EB 20.76 9
8 n F O B X EYIY ros M KER X —EB 21.14 10
5 68 # pE EER & any AEDES 21.60 11
4 67 #n Fl A Y ¥ rosw F—LA)=T 23.08 12
R GS AEX—ZFDE
e
RE—b | Bvbry EF4A IVAF mEy>7 AAL | IEEL
4 54 H & #H&F 4y 1%o FMN KR F—EB 23.06 1
3 53 X B = R F 4F3 AEDES 25.11 2
1 51 Mo B O FEFER 14 NI KFER F—E] 30.10 3
2 52 R B E F B4 % BREXERRR F—E 32.63 4
R /—HR—F&BFY
A GS R/—R—FBFDE
e
RE—bk | By BRT4 2YUH+* mEy>7 A4 L | IESL
2 59 # N = B EYHF 1% BREAKOUT 2401 1
8 58 W A FE =B Y5 F Ens BREAKOUT 24.92 2
7 57 ¥ BH E = EFH Y F7—ILY—IR 26.74 3
6 56 E B B ot U4 AYRy LoVat/h v 27.01 4
5 55 £ | B A RV FoR4 el 34.67 5
2 52 R EF @ 1t 14Ih I9h hog 35.35 6
1 51 e H # B 13HAx  and LBE 38.51 7
54 R £ & & =P a4 Nk RKPBRRF—EHR 45.58 8
3 53 n % # hoJ/ By MR/ —KR—FH 35T D




